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Sand craters and dunes (10.0 points)
A. Impact craters

A.1 (0.6pt)

𝐷 (mm)

𝐷 = ± mm

A.2 (0.5pt)

ℎmax =

𝑑 (mm)

ℎmax (m)

A.3 (1.7pt)

𝑚 (g) ℎ (cm) 𝐸 (J) 𝐷 (mm)
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A.4 (1.2pt)

Conclusion:
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A.4 (cont.)

Conclusion:
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B. Rolling and bogging in sand

B.1 (0.4pt)
𝑥(𝑡) =

B.2 (0.7pt)

𝑡50 (s)

𝑡50 = ± s

B.3 (0.8pt)

ℓ (cm) 𝑡 ±𝛥𝑡 (s)
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B.4 (1pt)

𝑔 =
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B.5 (0.6pt)

Model 1:

• 𝐿 =

• 𝛼 =

Model 2:

• 𝐿 =

• 𝛼 =

B.6 (0.8pt)

𝐿50 (cm)

𝐿50 = ± cm
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B.7 (1.5pt)

ℓ (cm) 𝐿 ±𝛥𝐿 (cm)
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B.7 (cont.)

The most suitable model is:

B.8 (0.2pt)

If the chosen model is model 1: 𝜇eff =

If the chosen model is model 2: 𝑘 =


